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General Instructions :

1.  Answers of all questions are to be givefiin the Answer-Book given to you.

2. 15 minute time has been allotted to read this\Question Paper. The question paper will be distributed
at 02.15 p.m. From 02.15 p.m. tod02.30)p.m., the students will read the question paper only and
will not write any answer on the Afiswei*Book during this period.

3.  Candidate must write his/her Roll"N@imber on the first page of the Question Paper.

4.  Please check the Question{ Paper to verify that the total pages and the total number of questions
contained in the Questioh Paper are the same as those printed on the top of the first page. Also
check to see that thefquestions‘are in sequential order.

5.  For the objective type of'quiestions, you have to choose any one of the four alternatives given in the
question, i.e., A)B), (C)*or (D) and indicate your correct answer in the Answer-Book given to
you.

6.  All the qdestions including objective-type questions are to be answered within the allotted time
and nogseparate time limit is fixed for answering objective-type questions.

7.  Making any identification mark in the Answer-Book or writing Roll Number anywhere other than

the'specified places will lead to disqualification of the candidate.
8. € Wkite your Question Paper Code No. 67/0OS/1-A on the Answer-Book.
94, (a)n, The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.
(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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Note :

(i)  This question paper consists of 51 questions in all.

(i) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Section - A consists of
Q.No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark£ach.<Select'and write the
most appropriate option out of the four options given in each of thése'questions. An internal
choice has been provided in some of these questions. You have t@ attemptiany one of the given
choices in such questions.

(v)  Section - B consists of
Q.No. 21 to 35 - Objective type questions. Q.No. 21 to 35 catry 2 miasks each (with 2 sub-parts of
1 mark each). Attempt these questions as per the instruetions given for each of the questions.

(vi) Section - C consists of

(@) Q.No. 36 to 41 - Very Short Answer type questiohs cafrying 2 marks each to be answered in
the range of 30 to 50 words.

(b) Q.No. 42 to 47 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.

() Q.No. 48 to 51 - Long Answer typé questions carrying 5 marks each to be answered in the
range of 80 to 120 words.

() T YH-TF H FA 51 T T

(i) @t g StfFamd ¥

(ili) TR T ok T IHHR b QY TT T |

(iv) @UE -k H e €4
Y9 AT 1 W 20 Th gl YR o J99 © 3R Y& 1 37 &l ¢ | 98 9 Toush I9 § U T IR
forehedl § & Tl SugEd foehed i =o o faam 81 78 4 39 79 § ofiafies fased fau e €)1 smusht
T3 yoi § feu M fgehed § 9 shaet Ueh fashed 1 & 3w foramn amm |

(v) TUE - W WA E :
Uy, §E&AT 21835 0% IS THR o Y &1 U WEAT 21 W 35 Th YAH Y7 2 37k & €
(Feh1 ek 2 3T-9FI & |MY) | T I o e U 7T w0 o 78R 37 9911 & S foad |

(vi) €EmE= D+ it €
(2) UTT GEAT 36 W 41 Toh A oT-3TIT TR & SI-aF 3Thi o 9 &1 37 T & SW 30 W 50 Isal

[N
=gy
~—"

T fgu M =fen |
(b) WY HEAT 42 | 47 Toh TY-IT YR b AA-oI 3Thi o UL & | 37 YAl & W 50 | 80 Tl

7 fou 9H =ifeq |
(c) W9 WEAT 48 W 51 Tk ¥ SULT YR & Ure-Uier 3{hi o 9 &1 37 T o ST 80 W 120 Irsaf

7 fou sH =ifeq |
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SECTION-A / @Us-h

Questions 1 to 20 are MCQs of 1 mark each. Internal choices have been given wherever necessary.

T 19 20 TAF 1 37k & Tgfaehedid T €1 SRl ot 31awak 2, SAidfie fasey fou & €1

1. (i) A sole trader has : 1
(A) Unlimited resources (B) Limited resources
(C) Sufficient resources (D) None of the above
Teh Tehol IR & 919 B € :
(A) STt =i (B) ifHa &
(C) T & (D) TTH 9§ IS Tl
OR / 3A<ar
(i) Who takes the decisions in a Joint Hindu Family ?
(A) All members (B) Concensus
(C) Karta (D) None of the above
T G fog aRar & foig iF o &2
(A) 9 HeH (B) WS
(C) hal (D) , ST FIE &l
2. (i) The primary aim of cooperative society"isto : 1
(A) earn more profits (BY. serve the members
(C) raise production (D) none of these
TeRRT Tfafa w1 e tead
(A) 3TTUE TN HAM (B) TSl i el AT
(C) SR F@H (D) TTH § FIE &l
OR / A9aT
(i) A Joint Stock&Company is registered under the :
(A) Statutory Act (B) Chartered Act
(C) Companies,Act (D) Contract Act
T Y Rk hooT fheeh T=afa dsiisha ardt § 2
@it stfufray (B) =g efufram
(O et safufTem (D) egery stfufm
3¢5 Which of the following is not a method of direct distribution ? 1
(A)™ Direct Mail (B) Broker
(C) Factory Outlet (D) Telemarketing
frfafed § § SH- g faaon 5t fafy 72 82
(A) T TH (B) <A™
(C) Tl Tt &g (D) fermmehfen
EiE
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4. (i) Direct channels of distribution include : 1
(A) Producer — Retailer
(B) Producer — Consumer
(C) Producer —» Agent — Consumer
(D) Retailer - Consumer

foaeor & woaet el H e ¢
(A) IEH — Ikt foshan
B) SIS — ST

(
(C) SURH — Tl — IYHTHIT
(D) e fashdl — Susier
OR / et
(i) Retailers are the traders who buy goods from :
(A) Customers (B) Wholesalers
(C) Both (A) and (B) (D) Consumers
Freah? fashal TH AR B € S gt & RERCHI
(A) e (B) ik forshgndii
(C) < (A) T (B) (D) STl
5.  Which of the following is not a characteristic of advertisingg? 1
(A) Impersonal (B) 4, Non-paid
(C) Identified sponsor (D)< Mass“eommunication
frfafea # 9§ HH-9 fomm =1 fodroan 78 ©2
(A) Sl (BY IR yfTraiT
(C) YT i U&= (D) SHH9IR
6. (i) Advertising is affected by factors. 1
(A) Economic (B) Social
(C) Technological (D) All the above
EEIEE SN T B |
(A) sTfewR (B) ETHIRTH
(C) IR (D) W Tt
OR / e
(i) Electfenic'media includes :
(A)_"Radio (B) Television
(©) “Interhet (D) All of these
goTaRIfNe HIEH | HeT 81 @ :
(A) e (B) ferforer
(©) T (D) ST T
7. JIn which year Consumer Protection Act was enforced ? 1
(A) 1976 (B) 1984
(C) 1986 (D) 1995
ST S0 I e AR gt ?
(A) 1976 (B) 1984
(C) 1986 (D) 1995
EiE
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8. Incase an aggrieved consumer is not satisfied with the decision of the State Commission, he 1
can make further appeal into :
(A) National Commission (B) District Forum
(C) Supreme Court of India (D) All of the above
Ffg g difed Suvierm T =N & o § aqe =& §, o o o1 erdiet o Hena & -
(A) T A= (B) T #H=
(C) ¥RAd I Fealled ~Arer™ (D) WK |t
9. (i) Consumerism refers to movement by : 1
(A) Consumers (B) Producers
(C) Society (D) Government
YIS Teh AT ® :
(A)  SuMrETS! (B) UG
(C) HHTS Al (D) HIHR
OR / 3teran

(i) In case consumer is not satisfied with the order passed i the National Commission, he
can further make an appeal to :

(A) District Court (B) High Court
(C) Supreme Court (D) »Any Gourt
Ffg g IsiaRT T TR | Wik Fofa@ TgRTel §, 01 98 3T sTdiel o Hehell ©
(A) e = | (B) = e
(C) = = | (D) Tt off =merem o
10. (i)  Which right provides due€ompensation to consumers ? 1
(A) Right to choose (B) Right to be heard
(C) Right to be inféfmed (D) Right to seek redressal
-1 TR AT hipsi=d TfTwR e § 2
(A) T HEEHR (B) gTATE W H(HHR
(C) Hfamferd S &1 AR (D) f7amu =1 SIfHeR
OR / A9aT

(i) Consumer is a person who :
(A) Consumes goods and services
(BY" WUses goods and services
(C), “Buys goods and services for use
(D) All of these

WW@W&H@W%@

(A) TR TR Hansii 1 ST AL T

(B) g TR Harsii kT SUANT HIAT T |

(C) aEgell iR Hanell & Wi ST & fau wd T
(D) Wi qff
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11. (i) Which of the following rights reflects that consumer’s interests will receive due 1
cosideration at appropriate forums ?
(A) Right to be heard (B) Right to choose
(C) Right to seek redressal (D) None of the above
frfafed § § ®F- sAfawR Tt ¢ o Suavimrmet % fodi i Sfaa w0 w s fo s ?
(A) G STH I SRR (B) T I fHER
(C) 7o 5 &1 sIfrR (D) SR H § hiE T
OR / e
(i) Which of the following is not the responsibility of the consumer ?
(A) To be heard (B) To think independently
(C) To be aware (D) To complain
frafafea # & susie &t e SH-5 78 § 2
(A) G (B) T&d= &Y 9 HITAl
(C) ek &l (D) forerrd e
12. Consumer protection is important because of : 1
(A) Consumer ignorance
(B) Unorganised Consumers
(C) Widespread exploitation of Consumers
(D) All of the above
YT HEU AT HEul ©
(A) UM ST
(B) 3THTfod SUHIEHT
(C) UM 1 SATTh AT
(D) Ul |t
13. ich of the following right depicts ghat'they shou now their rights and must exercise 1
Which of the foll g right depicts that'they should k h gh d
them ?
(A) Right to be informed (B) Right to be heard
(©) Right to Consumer Education (D) Right to choose
’ —H1 ARHR ' [ =l ST SECIRRINICaE]
frfetfad & | -9 SRR SR ¢ foh 3% 379 Stferehrl i =feq iR
=feq ?
(A) gfed 9 s TR (B) g S @I AfYHR
(C) ST TRI&TT RINSHFHRI (D) T I STFHR
14. (i) A stamdardised mark printed on jewellery is known as : 1
(A) IsI (B) Agmark (C) Hallmark (D) ISO 2009
STEDT W gfed yeIfaa fog o el S §
(A) VST TH ITE (ISI) (B) WHEh (C) e (D) 3TE TH 3T 2009
OR / e
(i1)< »District Commission has jurisdiction to entertain complaints where the value of goods
and services paid as consideration does not exceed rupees.
(A) 10 lakh (B) 20 lakh (C) 30 lakh (D) 40 lakh
T 21 o 9re 39 Rl W faeR S 1 ifusR & § SRt gfate % ® 9 H I @6t
TE gl SR Hansi 1 god T0 § ferk T R
(A) 10 <= (B) 20 <&@ (©) 30 «™= (D) 40 <&@
EiE
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15. Wage employment means : 1
(A) Doing business
(B) Serving another person for wages or salary
(C) Engaging in some economic activity on his own
(D) None of the above

YT ISR BT 379 %

(A) SASEE BT

(B) Wiy A o & foru foreft e saferd skt Qe sha
(C) & B i fafafee § e g

(D) SR H | g &

16. Career Path means : 1
(A) Work done in different job positions
(B) Way adopted for a career
(C) Getting professional degree
(D) Getting a job title
oIS < T 1 319 ©
(A) STT-3 GG W HE H
(B) Sfifareht o ferw aToram & T
(C) R feult o &
(D) E & UMY 9T HLAT

17. (i)  Choice of career involves : 1
(A) Wage Employment (B) Self-employment
(C) Both (A) and (B) (D) None of these
STTfoehTaTS 1 =IF WS el Ba
(A) AT TSATR (B) WIS
(C) < (A) 9 (B) (D) 7 & 1 e
OR / et
(i) Choosinggeareer requires :
(A) Interest (B) Personality
(C) £SKkills (D) All of these
HiRA S § STaweRaT Bl €
(A) )&= (B) Al
(€) Tl (D) & msft
18. \Entrépreneurship leads to in unemployment. 1
(A) Increase (B) Decrease
(C) Neither increase or decrease (D) None of the above
St 9 e # 3 2|
A) dfs (B) hHt
(C) @ gfg T & wH (D) W H ¥ 1 &l
EiE
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19. Which of the following are the qualities of successful entrepreneur ? 1
(A) They are confident
(B) They take responsibility for their actions
(C) They work hard
(D) All of the above
frfefaa & 9 S 91 9 SaH % 707§ ?
(A) I A €
B) o 37194 Al &t fordier o €

(

(C) A FE AgTd Hd 8

(D) Ul |t

20. (i) An entrepreneur do the things as : 1
(A) others are doing (B) different from other
(©) alazy person (D) none of these
Teh ST 39 ThR h1F il § S ¢
(A) S AM I T T (B) & W fum
(C) T 3Terdt At (D) TTH ¥ Flg el
OR / et

(i) Which of the following is a function of the entfépreneds ?
(A) Innovation (B) Riskybearing
(C©) Managing (D) All of'above
frafafea § 9 s ot &1 HH-91 92
(A) TaTER (BY L STTREH S
Q) 9 (D) S Tt

SECTION-B / @Us-&

Question No. 21 to 35 below. Internal ch@ice have been given wherever necessary.

T 21 9§ 35 9 fed €1 el off, e @, =ik faey fod ™ )
21. Fill in the blanks : 2x1=2

(a) The activities whichare performed with an objective to earn money are known as

(b) Thetermsiand conditions of employment are decided by the

EESESIGRIL

(a) o A MRIE S & FHH % IGLIT F I W €, A & |

(b) TR AR o o TR SN T T S ¥
22, Fillin the blanks : 2x1=2

(@) Today because of the entire world has become a big market.

(b) Paying taxes to the government honestly and regularly is guided by

e o 94

(a) o RO FHUT foIee Tk 9IS TSR o 1§ |

(b) TR I FAfHd T SAFER & W A H PTaH g1 R B |

E3E
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23. (i) Raman General Store is a big businessman who deals in selling Nestle products in his
locality. He purchased products of Nestle directly from the State Distributor in bulk
quantities and sold them in the market of small shopkeepers from different corners of
the city. Identify which type of trade followed by Raman General Store ? 1x2=2

T SR TR T g1 FFERN § Sl 39 SelTsh | A%l & IcUTE o9+ b1 h1q Il § | 3=
T & SATE WY T faawes | 9l A6 § Tl 3R 3 I o STe-3Te hiH 9 379 Bz
BI GhHMGRI ol SR | =1 | T SRS €R §RI STIAT ST 97! SR i 8= Y |

OR / 3terar

(i) ‘Moon Oil Mills” produce refined oil. The entire production is lifted by ‘Shashi“Oil
depot’, who in term sells it to various retailers. Mrs. Kamla, purchased 34&giof oil from
‘Ramaji Groceries’. Name the wholesaler and retailer.

A 7 e’ Iehd da ScTfed hid § | SehT IHE 3cdred YRR dat Tl SRSS forn ST
g S 3% fafy Feet fashamstl &1 =t €1 fiwfa swaen 7 3 kg Gep' THISH, TE qUer’ §
BRI | ST o STMHR T ik TR T Feeht TR T 1 fIEE|

24. True or False : 2x1=2
(a) The liability of a sole proprietor is limited.
(b) Domestic producers improve the quality of their products because of multinational
companies.
g 91 A9 -
(a) THA WH I I i

(b) SEUSET FHEAET % HROT ] STHISTIA Sec! ohi ol | R o € |

25. (i)  Mr. Vikas is running a busines$ 1n sole proprietorship. Due to loss in the business he
decided to wind up. On the day of winding up, the assets are worth I 5 lakh and
liabilities are worth ¥ lakh. He"also has his personal property of ¥ 8 lakh. How much
do you think creditors will get at the time of winding up of the business ? 1x2=2

A, TorhTe Teheiliieel =Tl SHerde =Iefl T € | SFe|r | i € o R0 3= 38 o hTd
=1 e forn | awragies fom, Trafa 5 arg o & oft oiR SR 8 e Tl & oft | 3R
TE ST ST i 8 T T 1 7 | S foeR § SHeEE % I & FHA er]
[EEREISURN U]
OR / et
(i) Mrs. Reeta wants to start a business organisation but she is afraid that in case the assets
of ‘her business fall short of repaying the liabilities, her personal assets could also be

used to repay the liabilities. Suggest to Mrs. Reeta, which form of business organisation
she should start so that her fear comes to end.

gmfq 21 T Fawas e I HAT FRdl & odfhd S S © o Afg 3 Had™ &l
P TSI ol b H HH TS I &, Al 3okl SATHKITA FHATd 1 STANT AT bl FehM
o forar oft foran 1 woran € | Sfimfa Tet &l T < foh 3 fohe UehR o1 SHadTiaeh ST & il
HET difeh 3T Y& U 8l ST |

E3HE
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26. (i) True or False: 2x1=2
(a) Feedback is one of the elements of the process of communication.

(b) People in an organisation can escape from communication.
g 1 AT .
(a) fd-3TR e Ufshan 1 T q T
(b) Toreht HTeA & @R IO | 99 Hhd € |
OR / 3eran
() Fill in the blanks :
(@) The person who receives the message is called as
(b) Communication through words spoken is known as

ECSEOIERTTUE
(a) S A T I HIAT § Y FBd ©
(b) VR % IARV GRI fRA ST AT FEITO FEdle)

27. Best Answer Test : 2x1=2
(@) The communication with the help of pictures, symibols, diagrams is called as

(b) What is Video-Conferencing ?

el ST qLE
(a) o, e, e s ¥ gR1 Tw T w7 ¥
(b) Htfe witRifET s 2
28. (i) Fill in the blanks : 2x1=2

(a) KYC stand for .
(b) In a bank’s Balance SHeetgdeposits is a

T T O
(a) o A& W H HIgE © |
(b) et S wi Ak H, S TH gl

OR / 3eran
(i) True or False™

(a) Ovgérdraft facility can be provided in Current Account.
(b) RBIAct was enacted in 1935.

I GhATA

@ETSRETT 3 SToRgTH 1 foren & <1 bl ¢

(bY WRBI stfufam 1935 § ] foharm Tam o |

29. “(a) ""Mahesh’s father wants to save I 2,00,000 so that he can gift the money to Mahesh on
his graduation day. Which type of deposit should he open with the bank ? 2x1=2

TR & fadr 2,00,000 T3 =T =R € dlich o8 39eh T g9 W ARY bl 98 STER | ¢
Teh | 3= Sk o T foRT TR A1 STHT @Tal GieHT =18y ?

(b)  Mr. Ravi has limited income and wants to save money for future needs. Which type of
bank deposit account should he open with the bank ?

t. T & arE i 31 § 3R a8 vfos =i stervaehared o foe o a=mn = & 139 faa
YHR &1 Sk STHT Gl sieh H @I 9y ?

32 E]
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30. Fill in the blanks : 2x1=2

(@) The consideration of insurance is known as

(b)  The principle of utmost good faith is based on between insurer and insured.
ECSESIERTUE

(a) o1 % Hfawat % & H A S

(b) YOI TRfovard 1 fagid sueRdl SR SHIERE & o R ARG § |

31. (i) If a person takes life insurance policy in the name of his wife and if later they get
divorced. Will it affect the insurance contract ? Ix2=2

Jfe =afera 3791 It o A9 T SieA oA ST ol & 3TR oS H SRl qoiTh_ Bk STl gl o
ST SHT STTeY T 3R TS ?

OR / 3t¥an
(i) The ship carrying oranges was insured against losses arising)from,accident with
insurance company. The ship reached the port safely and therefwas a delay in unloading
the oranges from the ship. As a result, the oranges got spoilt. Will'theinsurance company
responsible to pay any compensation to insured ?

HR T S FTe! STETS 1 STHT HEAT H oA 9 TH aTet TSI, o [y s HT = 747 o1 | STeTst
TS TR Ig T 1R STETe | Hek A H T T | FelS IS Gl 1o ok S & T | 1 A
HTIAT STHIURER hl I H3TEST o7 o forT SRR B ?

32. (i) True or False: 2x1=2

(a) Wholesalers require small amountioficapital investment for their business.

(b) Channel of distribution is thé routeitaken by goods as they move from producers
to consumers.

T AT A
(a) ok foshareli 1 3T FeETI A AT DTSt USit i STavarshdl Bt § |
(b) o oml & oqipscaTesh A GHIIT T ST ¢, SH foaRor qrea e
OR / 3traT
(i) Fill in the blanks:

(a) Wholesaler 1s;an important link between producer and

(b) A retailémactsasa __ between the wholesaler and the ultimate
consumer.
T S
(a) \ ¥R ATINI, IAGH T % o9 T HAE@gU el g
(b) W G foshd, ofieh fashar Ta ifam 39l & == T hTH HIAT § |
33% True or False : 2x1=2

(@) ¥ Advertising is a powerful communication force, and it is also an important activity of
promotion mix.

(b) Salesmen get no help from advertising while selling goods and services to customers.
g 91 JA9H -

(a) ToaaTo T wifaaenel Hor wfed B, 3R a8 o= fason 6t wewrqut fafafy «f 7
(b) T HouHA i fordt Icure steran W o1 foshl H faqmom @ 618 o9 21 fietar |
[E3zEE
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34. True or False: 2x1=2
(a) Responsibility of Consumer includes proper use of products or services.

(b) A responsible consumer is one who tries to protect his interest on his own.
g 91 A9 -

(a) U it R H Scael SR densdt w1 3fed w7
(b) T TR SUieT 9% § S ST fedi shi &7 o i T WA R |

35. (i) Best Answer Test: 2x1=2

(@) When was the Essential Commodities Act was enacted ?
(b)  BIS stands for

TATaH I T
(a) AT o] fIH ohel o fomam T ?
(b) ot 3TE TH H HAAS ¥ |
OR / e
() Fill in the blanks :

(a) State Commission can deal with cases involving\valae'of goods not exceeding

(b) Prevention of Food Adulteration Act was passed in the year

e T 90
(a) T WM Y Afyes 7 Fe Fiel Tel 9 9 Tehd1 §
(b) @ e e Jsnem STt a9 H i gat ol

SECTION-C/ @us-1
Question No. 36 to 51 below. Internal €hoices have been given wherever necessary.

T 36 W 51 9 feu ¥ | 5@ off svavae wléaier fasmen few mu )

36. What is a Partnership ? Explain in your own words. 2
TR 371 § 2 70 Vsidh, THsit |
37. What is Thrift and Credit Society ? Explain. 2
fiaeferar wel sedififa e 2 wHemsT |
38. (i) Whichimedium of advertising will be preferred by the blind ? 2
AR (7T SIF-H1 T wierd gymaeedt fog @ ?
OR / et

(i), Which media is useful for illiterate consumers ?

SfTTard UMl & forw shig-91 Hifean Sua € ?

89. 1() Who is a Consumer ? Explain in brief. 2
ST M 8 7 WA § THAET
OR / et
(i) Give any two reliefs to a consumer under Consumer Protection Act, 1986.

IqTeRT TET0T AT, 1986 % SA=Td Ueh SUNTKIT hl SIS o U <IfeTT |
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40. Give the full form of COPRA. How does it benefit consumers ? 2
COPRA %1 qui &9 SET | 3HH ST 1 91 e el 2

41. (i) Write any two problems faced by consumers. 2
SUNIIIA & HHA A aedl fohel <1 wmensti o o) # fofa |
OR / 31eran
(i) Why should a consumer look for ISI mark on the electric goods ?

Teh YIS i forsTell o THM W 6. T, 2716, Hleh 1 <@H1 =1fed 2

42. Explain three types of Non-economic activities that you see in your surroundings. 3

o G <kt T-aTfefen fomansti o1 orofq RifST 9= 319 o199 STe-am® <Ed 2l

43. What is E-=Commerce ? Explain any two types of E-Commerce. 3
-0 01 € 2 S-ofU o TRl &1 Wehrl ot ayoi shifs |

44. (i) Whatis ATM ? How does it help the customers of the bankK ? 3
TATA. F1 2 TE 9% F TeH I [T TohT TSI HALE 2
OR / 3gal

(i) State any three secondary functions of a, Commiercial Bank.

Teh aifvrfsaes Sk o fohgl a9 fgdiaes St e Sgeid iy |

45. State any three differences betweengwholesalers and retailers. 3

o1k Torohdl T et foshdl H SIS AfH 3t darsd |

46. (i) State any three qualities required for success in Self-employment. 3
ISR H FheTdideh Tauich=l i 0N ol 3eei@ hifeid |
OR / 3eran
(i) State briefly the avemttes of Wage Employment in the area of business.

TETE & HIRIsH! S hiF-hH U T § ? G&d § gHAET |

47. (i) Stateganyisthree qualities of a successful entrepreneur. 3
Teh Gl SaHl < foh=al T 7O < Seer@ hifad |
OR / et
(@i@)n, What factors you would like to consider if you start a small enterprise to produce paper
cups ?

IS AT TR Y I o AT Teh Bl ITH FE H ¢ a1 379 Foh el R =R & =wi ?

48. What are Multinational Companies ? Give two examples. Explain any three advantages of 5
multinational companies.

S HETTAT 1 It & 2 S ST TS | Sgaeea sheaf-iai o ferel ofie i o1 Seora whifste |
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49. (i) “Communication is as necessary to the business as the blood streams is to a person.” 5
Explain.
" Tk e H WO 1 S 81 Heed @ fSal o ek sfert o forg o SER ' | auemE |
OR / 3eran

(i) Describe the procedure of opening a Saving Bank Account in a Bank.

fordt oier | sTeId @IaT Wie bl GfshaT 1 Scoid Hifsu |

50. (i) Mohan takes an insurance policy of ¥ 1,00,000 with “X” Company. The goods of Mohan £
are damaged due to fire, the loss incurred is I 30,000. ‘X’ Company shall reStore the
actual loss but Mohan claims full amount of the policy. Name the principle of insuxance
he violated and explain it in 50 words.

HET X AT % |l 1,00,000 T Y AT Wiferel T § 1 ST A H Hig| ol S| &
B T, 30,000 TIH T HAM 21| “ X’ HET AEfereh B ot TS HaMhel e ile aifera
i I Tl T e w7 1S F 39 Fagia A aar ey @ Seaey e qen 39
fogid =1 50 wIsal # wHeEw |
OR / 3eran
(i) What purpose does Marine Insurance Policy serve ? {Explain’the different types of
marine insurance policies, which may be of use g6féxporters and importers.

T ST Bt = YA § 2 3Trdehi qen il & forisuant fafir= yehr =t agEt <t
Tifereial 1 Ieei@ hiftad |

51. Whatis meant by Advertising ? Give two featuresiof advertising. Explain any three objectives 5
of advertising.

foTam & s s & 2 T it < fordimad <ifSTe | fommae o foRel e Seeval ot Seoi it |

00 o -
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